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QUESTION 1

What are three effects of running a build clean server command? [Select 3]
A. All database tables are dropped and rebuilt

B. All generated artifacts are deleted

C. All code table files are recompiled

D. All application navigation files are checked and loaded

E. All client pages that have changed since the last build are regenerated
F. All generated and handcrafted code is compiled

Correct Answer: BCF

QUESTION 2

Consider the following hand-crafted SQL statement (written for an entity operation) and the relevant modeled
information presented: Which of the following statements are valid?

# Stiing Value B3

Enter the string walue:

SELECT A attributes A attribute3 A attributed ;I
[MTO :attnbute] ;attnbute,: attnbuted
FROM TheEntity & EntityOne B
WHERE & attribute1=E. attribute1 AND
&, attribute] = attribute AWND
B.attnbute?=: attrbute2;

0K Cancel |
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# Manage Operation Parameters

anage Operation Parameters w

Thiz wizard allows to manage operation parameters and return bpe

~ Parameters
Mame | Tupe | Shadow Type
farg | Struckd, urizpecified i =]
R
e
R
~ Return Type:
Fetun Type:  |StuctB Select Type. . | :
Shadow Type: Iunspecified "FI

If?:l \ Finishi Cancsl

| astiucts |
| =] Structi |
| [ «defaults attibutel : SAMPLE_DOMAIN |
B «defaulty attibute? : SAMPLE_DOMAIN

=]
| BB gdefaults attnl:uuteS SAMPLE_DOMAIN

structs l

=] StructB

il
| = adefaults attnl:uute'l S.ﬁ.MF'LE DOMAIN | |
‘ Eg gdefaults attibute? : SaMPLE DEIM.E-.IN

= qdefault:@ attributed : SAMPLE DDMMN

A. A build generated will fail with the error message \WError 20500 - incorrect SQL syntax defined for nonstandard
operation on [Entity].[Operation]\\'.

B. It will only be possible to test whether the syntax is well-formed by running the SQL.
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C. A build generated will complete successfully, but the entity operation may throw an exception at runtime.

D. The use of Host variables \\:attribute1\\' and \\:attribute2\\' as both argument and return variables will cause a

compilation error in the server application.

Correct Answer: BC

QUESTION 3

Examine the piece of code shown:

#3ERVER INTERFACE OPERATIOCN="insertItem™ CLAZSS="Mainta:nItem"
NANE="insert SI" PHASE="ACTION™

<SERVER INTER FACE OPERATION=MgetItems” CLASS="Maintainltem"
NAHNE="getItems SI" FPHASE="DISPLAY"

<CLUSTER TITLE="Cluster.Title™»

cFIELD>

<INITIAL PROPERTY="first™ NAME="getltems SI"
HIDDEN PROPERTY="second" />
INECT
:TARGET PROPERTY="third"” NAME="insert SI" />
TONMEC T
</FIELD>
</CLUSTER>

Which two of the following statements about this piece of code are true? [Select 2]

A. The INITIAL element must be defined within a CONNECT element inside a FIELD element
B. The HIDDEN_PROPERTY should have the same name as the TARGET PROPERTY

C. A drop-down list containing the values for first and second is displayed

D. A SOURCE element could also be added in the same field that contains the INITIAL element
E. The PROPERTY third must be defined as a list

Correct Answer: AD
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QUESTION 4

If stereotyped methods were included in an entity class MyEntity, the implementation of these methods displays in which
Java class?

A. curam.impl.MyEntity
B. curam.base.MyEntity
C. curam.fact.MyEntity
D. curam.intf. MyEntity

Correct Answer: B

QUESTION 5

For which two of the following customizations is it compliant to subclass an entity? [Select 2]
A. Add a new attribute

B. Override an attribute

C. Override a database operation

D. Override a non-database () operation

E. Enable an exit point for an operation

Correct Answer: DE
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